50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 4248 =

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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Time: 3 hrs.

Ffaurth Semester B.E. Degree Examination, I)ec.2017/Jam2018
Surveying - 1l o

Max Marks: 100
o Note Answer any FIVE full questions, .selegtmg
" at least TWO questions from each pat*a
PART -~ A
1 a. Differentiate between :

= 3 o

i} Lineof coﬁzmaimn and trunnion Axis
ii) Horizontal axis az:»d vertical axis

iiiy Temporary and Permanent adjustment. ¢ : (09 Marks)
Explain the measurement ﬁi‘/a hcxrrzontai Angle by re;mman method. (06 Marks)
Explain the method of measaremcm of a vertical asgie using a theodolite. (05 Marks)
Explain the object, necessity, tasi‘f'a’nd adj‘ustxmm of making the axis of the bubble tube
perpendicular to the vertical axis of a dumpy level. (08 Marks)
Name the fundamental axis of theodolite. -~ . (04 Marks)
In a two Peg test on a dumpy level the following readings were taken :

fiosi Reading on
evel at Remarks

A B Y
0 1.682 | 1.220 | ‘O’ is exactly midway between A and B J
A 1.528 | 1.178 | distance between A and B = 100m _ :

Is with the instrument of *A’ what should be the stafi‘ readmg on ‘B’ in order to place the
line of collimation truly lmrzmxﬁai ( (08 Marks)

Derive the expression for. the ,horxzonta] distance, vertlwi hmght and the elevation of object,
whose base is accessible Qy single plane method. % (10 Marks)
Determine the reduced level of a church spire ‘C’ from’ the fmilowmg observations taken
from two station A and B, 75 mtrsapart.

|BAC=62° 18, {|ABC=72°42'

Angle of elevation from A to top of spire = 20° 12

Angle of ele»a‘imn form B to top spire = 21° 6

Staff rt:admg, fr@m B to same BM = 3. Zéom / ~ (10 Marks)

Write ﬁxpfynmory notes on use of anallatic lens and subtense bar in tachomeir}z (08 Marks)
A tachometer fitted with an anallatic lens was set up a station ‘D’ with the fohowm/g

St»axmp sited | Bearing Staff Readings Vertical angle | :

“A 340°30° | 0.800 | 1.855 12910 +6° 30

b B 70° 30" | 0.660 | 2.200 | 3.740 -4° 20" Gy

Determine the distance AB and gradient from point A to point B. (12 Marks)

PART_B

Derive a relatmnshxp between radius and degree of a curve for arc. (04 Marks)

Derive the expression for perpendicular offset from tangent in linear method. (06 Marks)

Explain the method of setting out a simple circular curve by Rankin’s method. (10 Marks)
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A compound curve consisting of two arcs of radii 350m and 550mtr connects two straights
AB and BC, whgch are intersected by a line PQ. The angles APQ dnd BQP are 139°30" and
36°24' respeém)g}»y Determine the Chainages of the tangent pqmts “if the chainage of the
intersection point B is 5425.19 1 mtr. (12 Marks)
The first branch of a feverse curve has a radius of 200mtr. Fmd the radius of second branch
so that the curve can connect parallel straights 18m apait. The distance between tangent
points is to be 110m. Also zalculate the length of two bmnghgs of the curve. (08 Marks)
What is transition curve and why it is used? Also expia\m with suitable sketch of shift,

7 (08 Marks)
A parabolic vertical curve is fn be set out betwwﬁ an upgradient of 0.8% and a down
gradient of 0.4%. The chainage and RL of intersection point are 124.30m and 268.60m
respectively. The rate of change vf»grade is Q. i%, per chain length of 30mtr. Calculate the

chinage and RL of beginning, end andﬂs'ertex pég::‘t of the vertical curve. (12 Marks)
Explain the method of using plammeter n grea calculat:ons (06 Marks)
What is ‘zero circle of a planimeter? =~ - (02 Marks)

A road embankment is 8.0m wide and- 200wt length at the formation level with a side slope
of 1.5:1. The embankment has a msmg gradient of I m 100 mtr. The ground levels at every
50m along the centre line are as i:oilows d

Distance (m) L) 5000400 | 150 200
RL (mtr) ¢ | 164.5 | 165.2 166.8 | 167 | 167.2

The formation level of zero Ch:image is 166mtr, calculate the volume of earth work.
(12 Marks)
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